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Question 1 –short answers (30 marks)

A. What are bad debts? How are they presented on the income statement? How are they provided for on the balance sheet?

B. Calculate the cost of goods sold in dollars and the gross margin percentage for Mandy Corp. Purchases = $5,000 Ending inventory = $1,000 Sales = $20,000 Beginning inventory = $4,000 

C. As compared with the FIFO method of costing inventories, does the LIFO method result in a larger or smaller net income in a period of rising prices? Why? 

D. Adina Inc. uses the declining balance method to calculate depreciation on manufacturing equipment. The rate is 20%, and the equipment they bought this year is $100,000 with a $30,000 residual value. What should depreciation expense be next year if this is the only asset the company owns? What would depreciation be next year if they used the straight-line method instead? (note: they do not use the half year rule)

E. Discuss under what circumstances a new car would be shown as an asset of the lessee. What is meant by off balance sheet financing?

F. Under what conditions of bond issuance does a premium on bonds payable arise?

G. Explain preferred shares and cumulative preferred shares. 

H. For payroll purposes, identify the amounts that will be expenses of the employer for the following pay:


Tom Jones Gross pay = $2,000


Deductions:   Federal income taxes = $300


                     Provincial income taxes = $400


                     QPP (Quebec Pension Plan) = $50


                     EI (Employment Insurance)  = $20

I. For income tax purposes, give an example of a timing difference, and of a permanent difference.

J. Explain what effect the following transactions would have on cash (source or use) and how they would be shown in a cash flow statement. (under what category)

· A $500,000 piece of equipment is purchased with the proceeds of a new 12 month note

· $1,000,000 of inventory is purchased on account

· A dividend of $0.50 per share is declared on the 500,000 outstanding shares.

· A piece of machinery is sold for $3,000,000 cash. It was originally purchased for $6,000,000 and currently has $2,000,000 of accumulated depreciation.

Question 2 – Multiple choice (70 marks)

For each of the following, choose the letter that corresponds to the best answer. Each correct answer is worth 2 marks.

	1.
	Which of the following statements is false?

	
	A.
	Information disclosed in financial statements is relevant if it can influence users’ decisions.

	
	B.
	Accounts receivable would normally be classified as a current asset.

	
	C.
	Accumulated amortization would normally appear on the income statement.

	
	D.
	The matching principle holds that all expenses incurred in the earning of revenue should be recognized in the same period as the revenue earned.


	2.
	The primary purpose of the balance sheet is 

	
	A.
	to measure the net income of a business up to a particular point in time.  

	
	B.
	to report the difference between cash inflows and cash outflows for the period. 

	
	C.
	to report the financial position of the reporting entity at a particular point in time. 

	
	D.
	to report assets at their current market value at a particular point in time.


	3.
	Which account is least likely to appear in an adjusting journal entry?

	
	A.
	Cash

	
	B.
	Property Tax Expense

	
	C.
	Interest Receivable

	
	D.
	Salaries Payable


	4.
	Which of the following events will not result in recording a transaction?
	

	
	A.
	Signing a contract to have an outside cleaning service clean offices.

	
	B.
	Paying employees their wages.

	
	C.
	Selling shares to investors.

	
	D.
	Buying equipment and signing a note, payable with interest at the end of a year.


	5
	Hamed Salem is the sole owner and manager of Hamed Auto Repair Shop.  In 2010, Hamed purchased a new automobile for personal use and continued to use an old truck in the business.  Which of the following fundamentals prevents Hamed from recording the cost of the new automobile as an asset to the business?

	
	A.
	Separate-entity assumption

	
	B.
	Revenue principle

	
	C.
	Full disclosure

	
	D.
	Cost principle


	6.
	Wilburn Company reported the following data at year-end: Sales, $100,000; Beginning inventory, $8,000; Ending inventory, $6,000; Cost of goods sold, $60,000; and Gross margin, $40,000. What was the amount of merchandise purchases for the year?

A.  $40,000              B.  $46,000                C.  $58,000               D.  $68,000


	7.
	During 2009, Thomas Company recorded bad debt expense of $5,000 and wrote off an uncollectible account receivable amounting to $3,000. Assuming a credit balance of $6,000 in the Allowance for doubtful accounts at January 1, 2009, the balance in the allowance account at December 31, 2009 would equal: 

A.  $4,000               B.  $8,000                  C.  $11,000              D.  $14,000


	8.
	Which of the following transactions will cause an increase on both sides (left and right) of the basic accounting equation?

A.  Collection of cash from a customer who purchased merchandise on account.

B.  Payment to a supplier for inventory purchased on account.

C.  Borrowing of money from the bank.

D.  Purchase of equipment for cash.


	9.
	A post-closing trial balance will show non-zero balances for the following accounts:

A.  permanent and temporary accounts.

B.  permanent accounts only.

C.  temporary accounts only.

D.  income statement accounts only.


	10.
	The periodicity assumption is the basis for:

A.  dividing the activities of a business into a series of time periods for accounting and reporting purposes.

B.  the cutoff of revenue recognition only.

C.  keeping the company's transactions separate from those of the owners.

D.  the cutoff of expense recognition only.


11.
Which of the following transactions would not create a cash flow?

A.
The company purchased some of its own shares from a shareholder.

B.
Amortization of patent for the period.

C.
Payment of a cash dividend.

D.
Sale of equipment at book value (i.e., no gain or loss).

12.
Brooks Company sold equipment for $100,000, purchased a building for $80,000, sold long-term investments for $20,000 and repaid a note payable for $25,000 plus $1,500 of interest. What was the net cash flow from investing activities (parentheses indicate an outflow)?

A.
($45,000)                 B. $13,500                    C. $15,000                     D. $40,000

13.
In 2010, Gamma Company made an ordinary repair to a delivery truck at a cost of $300. Gamma's accountant debited the asset account, Delivery Vehicles. Was this treatment an error, and if so, what will be the effect on the financial statements of Gamma?

A.
The repair was accounted for correctly.

B.
The error increased assets and net income in 2010.

C.
In the years following 2010, net income will be too high.

D.
The error decreased net income in 2010.

14.
A long-term asset that cost $100,000 had an estimated useful life of 5 years and estimated residual value of $10,000. From which year would the amortization under the straight-line method start to be greater than that under the double declining-balance method?

A.
The first year.        B. The second year.       C. The third year.       D. The fourth year.

15.
The inclusion of the intangible asset Goodwill in the financial statements of a company indicates that the company:


A.
has a current favourable reputation with the customers.

B.
has had a satisfactory record of annual earnings.

C.
has purchased another business at a price in excess of the fair value of its net assets.

D.
has purchased another business at a bargain price that is below the fair value of its net assets.

16.
How should the amount of federal income tax that is withheld from employees' paycheques by the employer be recorded on the employer’s books?

A.
As a current liability.

B.
As an asset.

C.
As revenue.

D.
It should not be recorded because the amount does not belong to the employer.

17.
On January 2, 2009, Muff Company borrowed $10,000 from Bank Nouvo. The loan was to be repaid in equal principal installments of $2,000, payable on December 31 of each year, beginning on December 31, 2009. Disregarding interest, the portion of the loan that should be reported as a current liability on the company's 2009 year-end balance sheet would be:


A.
$8,000                    B. $6,000                    C. $4,000                      D. $2,000

18.
When a company prepares a bond indenture, certain provisions of the bonds are included. Which of the following are not provisions specified in the indenture?

A.
Dates of interest payments.

B.
Rate of interest to be paid.

C.
Cash to be received at the issue date.

D.
Maturity date.

19.
Assume the following shares outstanding:

(a) 
Preferred shares, $3, cumulative, 1,000 shares issued with dividends in arrears for three years: 2007, 2008, and 2009.

(b)
Common shares, 2,000 shares outstanding. 


Total dividends declared in 2010 were $30,000. What is the total amount of dividends payable to common shareholders?


A.  $18,000                   B. $21,000                  C. $27,000                     D. $30,000

	20.
	At January 1, 2010, Fungo Corporation had assets of $560,000 and liabilities of $360,000. During the year, assets increased by $50,000 and liabilities decreased by $20,000. What was the total amount of shareholders' equity at December 31, 2010?



	
	A)
	$870,000        B) $270,000      C) $850,000         D) $170,000 


	21.
	Niko Corporation purchased factory equipment for $42,000 cash. Which of the following statements regarding this purchase is incorrect?

	
	A)
	The net income for Niko will be reduced by the factory equipment expense of $42,000.

	
	B)
	Total assets on Niko's balance sheet will not change.

	
	C)
	Total liabilities will not change.

	
	D)
	Total shareholders' equity on Niko's balance sheet will not change.


	22.
	What is the primary purpose of hiring a public accounting firm (C.A. firm) to examine the financial statements of a company?

	
	A)
	to assure no fraud has been committed by the company's management

	
	B)
	to provide credibility that the financial information conforms with generally accepted accounting principles in all material respects

	
	C)
	to detect all accounting errors made by the accounting system and employees

	
	D)
	to detect fraud committed by employees


	23.
	Which statement is incorrect regarding the financial statements?

	
	A)
	Current assets reported in the balance sheet are generally reported in order of their liquidity.

	
	B)
	Dividends declared is an expense reported in the income statement.

	
	C)
	Expenses on the income statement are reported as incurred, not as paid.

	
	D)
	The cash flow statement reports the sources and uses of cash during the accounting period.


	24.
	During 2010, Cinse Corporation incurred operating expenses amounting to $105,000 of which $70,000 was paid in cash; the balance will be paid in January 2011. The transaction effects on the accounting equation are as follows:

        Assets                                 Liabilities                          Shareholders’ equity

	
	A)
	Decrease by $70,000          No effect                            Decrease by $70,000

	
	B)
	Decrease by $105,000        No effect                            Decrease by $105,000

	
	C)
	Decrease by $105,000        Increase by $35,000           Decrease by $105,000

	
	D)
	Decrease by $70,000          Increase by $35,000           Decrease by $105,000


	25.
	On October 1, 2010, Jayhawk Company paid $9,600 for a two-year insurance policy on its building. Jayhawk’s fiscal year ends on December 31. Which amounts should the Company report for Prepaid Insurance and Insurance Expense on its financial statements for 2010?

Prepaid insurance     

Insurance expense

A) 

         $9,600

        $0

B) 

         $0

        $9,600 

C) 

         $8,400

        $1,200 

D) 

         $1,200

        $8,400 




	26.
	Which of the following statements describes the conservatism constraint?

	
	A)
	Avoid overstating assets and revenues and avoid understating expenses and liabilities.

	
	B)
	The benefits of recording and reporting accounting information should outweigh the related costs.

	
	C)
	Relatively small amounts that do not influence users' decisions should not be reported on the financial statements.

	
	D)
	Differences due to long-standing and accepted accounting and reporting practices in a particular industry.


	27.
	Jefferson Company had the following account balances on February 15, 2011:

Accounts receivable

$6,000

Allowance for doubtful accounts

     550

On February 16, a bad debt of $80 was written off. What is the net realizable value of the receivables before and after the write-off?

Before

After

A)

$5,450

$5,450 

B)

$5,450

$5,370 

C)

$6,470

$6,470 

D)

$5,370

$5,450 







	34.
	Which of the following statements regarding retained earnings is true?

A) Retained earnings is an asset.

B) Retained earnings has a debit balance for a profitable corporation.

C) Retained earnings represents the future dividend liability of the company.

D) Retained earnings represents the income that has been earned by the company, less any dividends declared since the first day of operations.

	35.
	The following is a partial list of account balances from the books of Ellsworth Enterprise at December 31, 2010:

Accounts Payable
         $1,200

Accounts Receivable
           1,000

Accrued Vacation Liability
  900

Cash
                                   3,000

Deferred Revenue
              500

Income Taxes Payable
2,200

Notes Payable (due in 2 years)      600

Deferred revenue is expected to be earned in 2011. Based solely upon these balances, what amount of current liabilities should appear on Ellsworth's balance sheet at that date?

A) $3,900                     B)  $4,300                C)  $4,800                       D)  $5,400  




28.�
Campbell Company purchased 100 units of Product A at $21 per unit for resale to customers at $30. At year end, it was determined that the net realizable value of Product A is $20 per unit. At what value (per unit) should Product A be reported on the balance sheet at year end?


�
�
�






�
A) $20.          B) $21.          C) $30.           D) None of these amounts.





�
�
�
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�
Which statement regarding the indirect method of reporting cash from operating activities is false?


Amortization expense is added back to net income.


An increase in accounts receivable is added to net income.


An increase in accounts payable is added to net income.


An increase in merchandise inventory is subtracted from net income.


�
�
�
30.�
On August 1, Energy Company purchased a coal digging machine in exchange for $30,000 cash and 100 shares of AT common shares held by Energy Company as an investment. The AT common shares cost Energy Company $5,000 and had a market value of $4,200 on August 1. Energy Company paid $200 in shipping costs and $700 in installation costs. What is the total amount that should be debited to the Machinery account by Energy Company?





$35,100                     B) $35,400                  C) $35,500                 D) $36, 200


�
�
�
31�
The continuity (going concern) assumption is important in accounting for tangible operational assets because:


It helps a company decide whether to use straight-line amortization or an accelerated amortization method.


It justifies amortizing the asset over its expected useful life, without anticipating that the business will liquidate in the near future.


It provides justification for including residual values in calculating amortization.


It is consistent with maintaining assets in the accounting records at market value rather than acquisition cost.


�
�
�
32�
Bubba Inc. purchased an asset on January 1, 2011. Bubba chose the straight-line method to amortize the asset.  Had Bubba chosen an accelerated amortization method, which of the following would be true?


A)	Amortization expense would be greater in 2011.


B)	The book value of the asset would be less at the end of 2011.


C)	Net income would be less in 2011.


D)	All of the responses above are correct.





�
�
�
33.�
Which of the following methods ordinarily would be the most appropriate to determine depletion of natural resources for financial reporting purposes?


A)	Straight line.


B)	Double-declining balance.


C)	Specific identification.


D)	Units of production.


�
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